Math 766 (May 2004) Solutions

 $\frac{Q1}{H_{W}(U)} = \frac{1}{(1-x)} + \frac{1}{(1-x)} + \frac{1}{(1-x)} + \frac{1}{(1-x)} = \frac{1}{(1-x)} + \frac{1}{(1-x)} + \frac{1}{(1-x)} + \frac{1}{(1-x)} + \frac{1}{(1-x)} = \frac{1}{(1-x)} + \frac{1}{(1-x)$

0>2-15

(1+X<0, no soln.

SW 0> 22-1 = 7+1 - 2-1 -= (2) f os Within (-1,1) f(x)= lu(1-x)-lu(1+x)+2 00 (-1,1) is the domain of fre).

as 1-22 - f(x) monotone

 $(hen \frac{1-x}{1+x} = e^{-2} \rightarrow x = \frac{1-e^{-2}}{1+e^{-2}} = 0.7616$ — b unique root in (4.0) het fin)=o.

To use the N-R, We use 2"= 0.5 and giving 20 = 0.83802

(TYOY = 10.7616-0.77416 = 0.0125 $\chi^{(2)} = 0.77416 +$ $\chi^{(3)} = 0.76189$

2(412)=2(41) f(2(41)) f(2(4)-f(240)) M2 $\int_{(x,y)^{2-1}} \int_{(x,y)^{2-1}} \int_{(x,y)^{2-$ With X"=0.5 and X"=0.6, We obtain Q1 (1) Contd The Secont method reads 7 (3) = 0.7475 $\chi^{(e)} = 0.8133$

(2) For $\overline{F} = \begin{pmatrix} f_1(x_1, x_2, x_2) \\ f_2 \\ f_3 \end{pmatrix}$, the N.R. method Takes the form

 $\chi^{(k+1)} = \chi^{(k)} - \sqrt{\Gamma(\chi^{(k)})}, \quad k=0,1,2,\dots$

Here $\int 68(x_1+x_1)-x_2 = 68(x_1+x_1)-x_1 = 0$

 $\left[\frac{5 \sin(2_1 + x_0) - x_1 + x_2}{x_1^2 + x_2^2 - x_3^2} \right] = -\frac{1}{5}$

 $\frac{Q2}{HW} = W_{sign} = \frac{1}{2} \quad M_{sign} = \frac{3}{2} \quad M_{sign} = \frac{3}{$

2 M

Use multipliers
$$m_{32} = \frac{5}{2}$$
 ($m_{6} s_{1} s_{1}$) for $\frac{5}{4} s_{2} s_{2} = \frac{5}{2}$ ($m_{6} s_{1} s_{1}$) for $\frac{5}{6} s_{2} s_{2} = \frac{7}{6} s_{2}$

(2) In
$$A=L$$
 decomposition, L consists of multipliers used in qE while U is ml simply the reduced matrix at the last size l

(3) Negate all multipliers to give
$$L = \begin{pmatrix} m_{11} & 1 \\ m_{21} & 1 \end{pmatrix} = \begin{pmatrix} 1_{12} & 1 \\ 1_{22} & 1 \end{pmatrix}$$

and from (i)
$$A^{(7)} = U = U = \begin{pmatrix} 2 & 4 & 2 \\ 2 & 4 & 2 \end{pmatrix}$$

me

Take the diagonal matrix D from U i.e. Let $U = DM = \begin{pmatrix} 2 \\ -2 \end{pmatrix} \begin{pmatrix} 1 & 2 \\ 1 & -1 \end{pmatrix}$

 $(4) ||A||_{L^{2}} = col \cdot max = max(6, t, 7) = 7$

(5) Wite
$$L = \begin{pmatrix} 1 & 1 \\ 3/2 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1/2 & 1 \end{pmatrix}$$

$$M = \begin{pmatrix} 1 & 2 & 1 \\ 1 & -1 \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 1 & -1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$$

$$\begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} \begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} = \begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} \begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} \begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} = \begin{pmatrix} -\frac{1}{2} & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ -\frac{1}{2} & 1 \end{pmatrix} = \begin{pmatrix} 1 & 1 & 1 \\ -\frac{1}{2} & 1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{pmatrix}$$

$$\frac{0.35}{1.00} (1) \left(\frac{32}{1.00} + \frac{1}{1.00} \right) = \frac{13}{1.00} - 22^{10}$$

$$\frac{10}{1.00} \left(\frac{32}{1.00} + \frac{1}{1.00} \right) = \frac{1}{1.00} - 22^{10}$$

$$\frac{10}{1.00} \left(\frac{32}{1.00} + \frac{1}{1.00} \right) = \frac{1}{1.00} + \frac{1}{1.00} = \frac{1}{1.00} + \frac{1}{1.00} = \frac{1}{1.00}$$

 $\sqrt{\frac{2}{1}} = \frac{13}{12} - \frac{2}{12} + \frac{2}{12} + \frac{2}{12} = \frac{2}{12} + \frac{2}{12} + \frac{2}{12} = \frac{2}{12} = \frac{2}{12} + \frac{2}{12} = \frac{2}{1$

$$\mathcal{L}^{n+1} = \mathcal{L} \mathcal{L}^{n} + \mathcal{C}^{+} \quad \text{with}$$

$$(72^{n+1} = 1 + 32^{n+1})$$

$$(72^{n+1} = 13 - 27^{n})$$

$$(72^{n+1} + 87^{n+1} = 15 - 27^{n})$$

$$(-37^{n+1} + 77^{n+1} = 15 - 27^{n})$$

$$(-37^{n+1} + 77^{n+1} = 15 - 27^{n})$$

 $(8\mathcal{X}_{0}^{0+1}=15-2\mathcal{X}_{0}^{0+1}+3\mathcal{X}_{0}^{1})$

i.e.
$$\begin{pmatrix} q & 8 \\ 2 & 8 \\ 0 & -3 \\ 2 \end{pmatrix} \chi^{mt/} = \begin{pmatrix} 1/3 \\ 1/5 \end{pmatrix} = \begin{pmatrix} 0 & 2 \\ 1/5 \\ 0 & -3 \end{pmatrix} \chi^{n}$$

or
$$\chi^{n+1} = (D+L)^{-1} b - (D+L)^{7} U \chi^{n}$$

(3) As from (1), T = (0 -0.112 0)

where
$$(D+L)^{-1} = T_{45} \mathcal{L}^{11} + C_{45}$$

$$= (I+D^{-1})^{-1}$$

$$= (I+D^{-1})^{-1}$$

$$= (I+D^{-1})^{-1}$$

$$(D+1)^{-1} = \begin{pmatrix} 1 & 1 & 1 \\ -\frac{1}{3} & 1 \end{pmatrix} \begin{pmatrix} -\frac{1}{4} & 1 \\ -\frac{1}{4} & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & 1 \\ -\frac{1}{4} & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & 1 \\ -\frac{1}{4} & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & 1 \\ -\frac{1}{4} & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & 1 \\ -\frac{1}{4} & 1 \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} \\ -\frac{1}{4} & \frac{1}{4} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} \\ -\frac{1}{4} & \frac{1}{4} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} & \frac{1}{4} \\ -\frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} & \frac{1}{4} \\ -\frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} & \frac{1}{4} & \frac{1}{4} \\ -\frac{1}{4} & \frac{1}{4} \end{pmatrix} \begin{pmatrix} \frac{1}{4} & \frac{1}{4} &$$

(1) to ostimate where the eigenvalues a are, me again the Gorschsonin theorem: $\begin{cases} |\lambda - \mathbf{g}| \leq l \\ \lambda = l \end{cases}$

(2) The Power method will be applied to matrix $B = (A-6\pi)^{-1} = (A-8\pi)^{-1}$ 00 } = 1,2 is the closest to 2=1. =(7,7)=(7,7)=

 $= \begin{pmatrix} 3 & 0 & 1 \\ -5 & 0 & 1 \\ 1 & 1 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \\ 1 & 1 & 1 \end{pmatrix}$ $= \begin{pmatrix} 1 & 0 & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} \\ 1 & 0 & \frac{1}{2} & \frac{$

= (0.4 0.56 -0.2) if multiplied out ME
(-0.2 -1.68 0.6) if multiplied out ME COULD LEAVE LIKE THIS !!! * The method for B will be $Z = \binom{0}{1}$ K = 0, 1, 2 K = 9, 1, 3 K = 9, 4 X = 9, 4 X = 9, 4 X = 9, 4

MU So $\lambda(A) = \lambda + \frac{1}{A} = 6 + \frac{1}{675} = 73333$ Sope 2 (B) = M = 0.75 from 2 steps $\mathcal{Z} = \mathcal{X}^{(1)}$ $\begin{cases} y^{(1)} = \begin{pmatrix} -o.5 \\ o.75 \end{pmatrix}, \quad \mu = o.75 \quad (m=3) \\ \chi^{(1)} = y^{(1)} / M = \begin{pmatrix} -o.6667 \\ 0 \end{pmatrix}$ $\begin{cases} y''' = \begin{pmatrix} -0.6 \\ 0.8 \end{pmatrix}, & \mu = 0.8 \\ 0.8 \end{pmatrix}$ $\begin{cases} y''' = y'' \end{pmatrix} = \begin{pmatrix} -0.77 \\ 0.8 \end{pmatrix}$ This yields the Aguences

Pos X BC's h=h=h=0, $|\mathcal{U}_1 = \mathcal{U}_1$, $\mathcal{U}_2 = \mathcal{U}_2$ U3 = 412, U4 = 422 At (2,4,) for u,

(st eqn: 44,-42-43 = 0.2 + 0.01 x 0.09 = 0.2009 $\frac{1}{4^2} = 0.1 - 0.1^2$ 24,-42-0.1 + 24,-43-0.1

$$\frac{24_{1}-4_{1}-0.4}{h^{2}} + \frac{24_{1}-4_{4}-0.2}{h^{2}} = 0.2-0.1^{2}$$

$$\frac{2nd}{eqv} : 44_{1}-4_{1}-4_{4} = 0.6+0.01 \times 0.19 = 0.6019$$

At
$$(\mathcal{X}_{l}, \mathcal{Y}_{l}) = (o.l, o.z)$$
 for \mathcal{U}_{3}

$$2\mathcal{U}_{3} - \mathcal{U}_{4} - o.z + 2\mathcal{U}_{2} - \mathcal{U}_{1} - o.4$$

$$24_{3}-4_{4}-0.2 + 24_{3}-4_{1}-0.4$$

$$h^{2} + \frac{24_{3}-4_{1}-0.4}{h^{2}} = 0.1-0.2^{2}$$

$$3rd eq b$$
 $4M_3 - M_1 - M_4 = 0.6 + 0.01 \times 0.06 = 0.6006$ $4t (x, y) = (0.2.02) + 50 M.$

$$\frac{(3-3)(3-3)(3-34)}{(3_23)(3_2-3_2)(3_2-3_2)} y + \frac{(3-3)(3-3_2)(3_2-3_2)}{(3_23)(3_2-3_2)} y + \frac{(3-3)(3_2-3_2)(3_2-3_2)}{(3_2)(3_2-3_2)(3_2-3_2)} y + \frac{(3-3)(3_2-3_2)(3_2-3_2)}{(3_2)(3_2-3_2)(3_2-3_2)} y + \frac{2(3-3)(3_2-3_2)}{2(3-3)(3_2-3_2)} x + \frac{2(3-3)(3_2-3_2)}{4(3_2-3_2)(3_2-3_2)} y + \frac{2(3-3)(3_2-3_2)}{2(3_2-3_2)(3_2-3_2)} x + \frac{2(3-3)(3_2-3_2)}{4(3_2-3_2)(3_2-3_2)} y + \frac{3(3-3)(3_2-3_2)}{(3_2-3_2)(3_2-3_2)} y + \frac{3(3-3)(3_2-3_2)}{(3_2-3_2)}$$

(2)
$$\int_{-1}^{1} f(x) dx = W_0 f(-\frac{\sqrt{15}}{5}) + W_1 f(x) + W_2 f(\frac{\sqrt{15}}{5})$$

$$\int_{-1}^{1} f(x) dx = W_0 + W_1 + W_2 = 2$$

Take
$$f=\chi'$$

$$\frac{\int x dx = -\frac{\sqrt{15}}{5}W_0 + \frac{\sqrt{15}}{5}W_0 = 0}{5^{\circ}W_0 = W_0} = 0$$

Take
$$f=\chi^2$$

$$\int_{-1}^{1} x^2 dx = \frac{3}{5} W_0 + \frac{3}{5} W_0 = \frac{2}{5}$$

$$\int_{-1}^{1} W_0 + W_0 = \frac{3}{5}$$

For the [8,1] case, let $y=23^{-1}$, $z=\frac{94}{2}$; $\begin{cases}
f(x)yx=\frac{1}{2}\int_{1}^{1}f(\frac{y+1}{2})dy, & f(x)=\frac{102^{4}}{1002^{4}+1}, \\
=\frac{1}{2}\left(w,f(2x)+u,f(2x)+w_{2}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{4}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{4}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{4}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{4}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{4}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac{9}{9}f(2x)+\frac{9}{9}f(2x)\right) \\
=\frac{1}{2}\left(\frac{5}{9}f(2x)+\frac{9}{9}f(2x)+\frac$

While the exact integral (using $y = 2\sqrt{1}$) $T = \begin{cases} 0.0016 + 0.8283 + \frac{3}{9} \times 0.3072 \\ = 0.3673 \end{cases}$ While the exact integral (using $y = \chi^{c} + \frac{1}{100}$) $T = \begin{cases} \frac{102}{102} dx = \begin{cases} 12^{4} dx \\ 12^{4} dx = \begin{cases} 12^{4} dx \\ 12^{2} dx = \begin{cases} 12^{4} dx \\ 12^{4} dx = \begin{cases} 12^{4} dx = \begin{cases} 12^{4} dx \\ 12^{4} dx = \begin{cases} 12^{4} dx = \begin{cases} 12^{4} dx \\ 12^{4} dx = \begin{cases} 12^{4} dx =$

Finally for 23: SEXACT = 5, x34c = 0 5 Numer = 5 (-6723)=0 25 SEM: Waly for 240

00 Abs ecros = 0.0053.

 $\begin{cases} |Exact I = \int_{-1}^{1} x^{4} x = \frac{2}{5} \\ |Wuner = \frac{5}{9} (3^{4} + 7^{4}) = \frac{5}{9} \frac{2 \times 9}{25} = \frac{2}{5} \\ |Wuner = \frac{5}{9} (3^{4} + 7^{4}) = \frac{5}{9} \frac{2 \times 9}{25} = \frac{2}{5} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4} + 7^{4} = \frac{5}{9} \\ |Wuner = \frac{5}{9} (-1)^{4$

Signal (1) Explicit scheme: $\frac{37}{h} \text{ (1) Explicit scheme:}$ $\frac{9n+7n}{h} = f(\pi_n, 9_n), \quad n \ge 0$ $\frac{9}{h} = \frac{9}{h} + h \left[e^{-x_0} - 2y + x_0 \right]$ $= 1 + h \left[-1 \right] = 0.75, \quad x_1 = 0.25,$ $\frac{9}{h} = \frac{9}{h} + h \left[e^{-x_0} + 2y + x_0 \right]$ $= 0.75 + h \left[-0.6659 \right] = 0.5855$

12 Next we use the

Implicit scheme:

At n=0, 9=1 and x = h=0.x

$$y_1 - y_0 = (e^{-x_1}, -2y_1 + x_1)h$$

00 $[1-h(e^{-x_1}z)]y_1 = y_0 + h x_1$ 0 0 y = 1,0625/1.3053 = 0.814

At n=1, y=0.814 and x==2h=0.5

$$y_{2}-y_{1}=(e^{-\lambda z_{1}}-zy_{2}+z_{2})y_{1}$$

8.5 = 3.5 = 0.939 / 1.3484 = 0.6964.00 [1-h(e-12)]y=y, +h72,

(2) 00 $y_{n+1} - y_n = f(\mathcal{I}_{n+1}, y_{n+1})$, n30

At n=0, Y=1, and R=4=0.25. $y_1 - y_2 = (e^{-x_1}, y_1 - 2y_1^2 + x_1)h$

From solving f(y) = heto-144+9-9+42 (x) for y=y, Via the Newbor-Raphson next

f'(y)=he-x1-444-1

Thus, with y = y = 1 initially, we obtain $y^{(i)} = y^{(o)} + f(y^{(o)}) = 0.86551$ $y^{(i)} = y^{(i)} - f(y^{(i)}) = 0.86009$

 $y^{(2)} = y^{(1)} - \frac{f(y^{(2)})}{f'(y^{(2)})} = 0.86009$

o y = 0.86009 at 2,=0.15.

Finally at n=1, y=0.86009, Z=24=05:

 $\frac{y_2 - y_1}{h} = C \frac{\pi_2}{y_1} - 2y_2 + \chi_2$

 $f(y) = he^{-x_2} - 2y^2h + y_1 - y + h = 0$ We now use the NR to solve the egu

So $y^{(i)} = y^{(o)} - \frac{f(y^{(o)})}{f'(y^{(o)})} = 0.79309$ Mf $y^{(i)} = y^{(i)} - \frac{f(y^{(o)})}{f'(y^{(o)})} = 0.79172,$ $y^{(i)} = y^{(i)} - \frac{f(y^{(o)})}{f'(y^{(o)})} = 0.79172,$ for y=y, starting from yor=y=0.86009.

i.e. $y_2 = 0.79172$ at $z_2 = 0.5$ (2)